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20X 20 X 3.14 X - = 314(em?)
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47.1 +3.14 = 15(cm)
15+2="7.5(cm)
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[> ®EH: 314cm
> HEHD 314cm?

(RELT)= (879 1)

—10x2x3.14 + 2 = 31.4(cm)
(9] Hol) = (A2 el yo))

= (89 WAF) x (879 )

=10 x 31.4 = 314( cm?)
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» E cm?

> A 153.86cm?

Ao Hx] &= 43.96+3.14+2=7
Blo]=7x7x3.14 = 153.86( cm?)




216 cm?

18 x 12 = 216( cm?)
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1
10X 10 x 3.14 X - = 78.5(cm?)
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(1% 7+ A=) =50 x 3.14 = 157(cm) = 1.57(m)
2.983(km) = 2983(m)
— 2983 + 1.57 = 1900 %

=318 40%
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» E: cm?

[> ®EHD 28.26.cm?

B \
(¥ @9 §tx]529 do])

=31.4+3.14+2=5(cm)

H @9 A F2 dol)

=25.12+3.14+2 =4(cm)

A @2 9 Qo Helol 2

=5x5x%x3.14-4x4x%x3.14

= 78.5 — 50.24 = 28.26( cm?)
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[ ]x2x3.14 =25.12
[ ]x6.28=25.12
[ ]=2512+6.28

|:|=4(cm)

=l

Ox(Ox3.14="1785
OxQO="785+3.14
OxO =25

O =5(cm)

445 =9(cm)

@ ¥2] Ho|7} 78.5 cm? ¢l
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(Aot 2™ Ad)

=100 x 2+(¥F2]5°] Tm¢l Yo} ¥F)

=200 + (14 x 3.14) = 200 + 43.96 = 243.96( m)
(Aol 2 A)

=100 x 2+(¥FA]F°] 5m<l Ao AF)

= 200 + (10 x 3.14) = 200 + 31.4 = 231.4(m)
(2707t ¥ Aot Aozt 2 A= 7
= 243.96 4 231.4 = 475.36( m)
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0] 125.6cm¥ ), AL =g 2202 1= v

[> HED 125.6cm

B
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20 x 3.14 + 2 = 31.4(cm)

AR e dole

{(125.6 - 31.4) + 3.14} x 2 = 60( cm)

Tt AR 1T XSS R sk Nl fFe

1
80 % 3.14 x o = 125.6(cm) AU k.
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26cm , 7F U, o Al 9] 259 92 30cm & o, o] =3 HA 9
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> HEH 94.2cm

7t+ 4 =16
T} = 30 - 16 = 14(cm)
U+ o =26

U =26-14 = 12(cm)
7} =16 - 12 = 4(cm)
A S 1 (4x3.14) + (12x 3.14) + (14 x 3.14)

= 12.56 + 37.68 + 43.96
= 94.2(cm)




15.

> Heh: 96.cm?

2] 50] 16cm ? ¥ 2] Hol)+(A 5ol 12emQl §HLol 4
D+EAE 9] Wel)-(AFe] 20em ] 9] Hel)
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(8><8><314>< )+<6x6><314>< >+(16x12x§)—

/~

10x10x314x2>

= 100.48 + 56.52 + 96 — 157
= 253 — 157
= 96( cm?)




